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D 5%,

C G B A B R 5 00 T S 8 O 2l TR B PR A B R N RE R VR AL T E B A R A
B CBRVE” IR B R AT A A TR R AR SR U, o R A B B AR N PR AN LB B R LU S, B AR R “ER ML
R KA TN SeSO; +2H =Se v +S0, # +H,0,C IE#; “BRE "I S M IER T & A Fe'r,
WA KSCN BRI =224, D iR,

B Z 5 Na,CO, &4 CH; COONa, CH; COONa F1 Z, B3 55 %5 T 7K . To vk 43 W A R BE 52 30 A 1 1Y
ST B Y 5 TR BB R AL T K A AR R B L A NaOH W T8 2 2 88 M5 T AGE 149 Cu(OHD i
A LT TN ™ A L B RS S IUAH I I 9250 H Y 5 BB 0 200 WO € 19 AR RT L2 SO, 3% CL L Os 5558 4
PSR # % M EE 9 NaClO 3% NaClO; 55, 5 vk ER )™ Az Cly , i B (8 F 213 W AR €0, C R g 55 B AH [
F) 5286 B s H O, B R E A Fe(NOy), WM ARG, W h A H  NO; -4 T4 W IR 7
TE AR LT LUK Feo ™ AL Fe® ' L B LLTCEIE B & 4Lk . H, O, >Fe’" . D4R,

5.C ZeEMe E RS0 b . A Nk R . RO P . a RO IE R . b RO SR BRI R . c R

FAAR . d LA 2 PR . HL AR 7 b M il — 5 28— ML B . A B R AR 3 T 7 7T 40, d A A 1 R AR S i
H,O0—e =—-OH+H" ,B4Ei% ;¢ MM HE R M R 2H,0+2¢ —H, A +20H , 45 % 2 mol H F,c H
e 7= 1 mol Ak, d LA M HL AR M S H, O—e” = -OH-+H™, %3 B 3 ¢ OHD iy & Ak M A0k + )
SLEBRRE A R R R C H, OH+28 -OH =6CO, A +17H,0, F % 2 mol T,

d HL B L7 X 2 mol= ol Ak eud W A SR B PR BULL CHIR 2 P RO 7+ 3.C T8 52 sl

L R %l Cr, O +6e  +7H,0=2Cr(OH), y +80H ,# a fg# A 1 mol Cr,O} & 5 i, Mt
A 6 mol OH™ M a HE % X % W d i P 2 F B E A NaCl i . D 45 1% .
€ K= S A B R B 5] lg K= — g c(H) —lg
C(HX) 7 e(HX)
EexH PPy
c(HX) c(HX) _
P X (X))
BIMA K NaOH & AR LA 10, 00 mL B, ¥ W P A9 3 3 o0 45 1k B ) HX A NaX, Ko HX A9 HL 3 4K

K, =10 "7, X 1y 7K fi# % 5 K, :1071,»;,:1079'25 X0 K AR AR /N T HX Ry AL B R B I P

10

(X7 _
c(HX)

—lg c(H")+

1

Broa H(—1,3. 7)) R AKX, 85 —1g K,=3.75—(—1)=4.75, ) pH=

1A LATAE pH=1+4.75=5.75,c(H" )=1.0X10 " mol « L', A §i%;

+4.75. % p
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17.

18.

19.

c(HX)
c(X7)
B 24 A 10. 00 mL NaOH ¥, VA 1 b 5998 TR 46 9 3 19 HX A1 NaX, f27E H A <P 4E o« (HT ) +e(Na™)
=c(X )+ c(OH YMP R SEE 2¢(Na™ ) =c(HX) + (X D), IR BE S 715 ¢ (HT) +c(HX)=c(Na" )+
c(OH ™), C IE# s NaX A 7K i 2 {2 Bk (1 B 88 B % NaOH 3 W A9 A L 18 Wb NaX 3 B 2 Wi 38 K 7k 19
P, R R 3 K U T A R R NaX I, 7K i L R 3k B e R, K R B R H YR R K. AR R
A TGFEHT AT AL ¢ SIE R pH=5. 75, U8B BT b Bk b AR AR NaX 4h 38 A — s B A HX W a.b,
© = ASO6F RV VR K R R R HTYRE a1 <<b fi<lc 5, D iR,
CI 1 Hs 8 s < (B R 2D (1 43D A 55 98 B K Y 2 fil T AR B8 K, ¥ BE SR TE 47 (2 43
(2) A2 N NaOH V5 1K, SR H VKK 45 BN 2 BRI (2 3 o 2% — s 149
() ZEM (2 41
(A Y = ol BB O it T s LA B2 (2 43D F S A (L 4D
(5)99.2% (2 4y D(2 4y, BhE L% . RED
iR AT = (4 MR T 7 ¥ 7K o A T 078 B /0N o DL b T K 5 R TR o T BB UK 81 98 % T 3 JR R 00 2 o 4 AR i i [ 4 3
— AR, N R R T R A .

0.080 0 mol » L=40, 02480 Lxloo mIanz g« mol™!
(5 12 & . X 100% = 99. 2% . Z&M@ K VL& 5. K A
NaOH s fE 78 W 18 B8 Bl i o B o D)3 2 85 w08 s o 9 TR0k B8 722 /DN V) T P s o 9 R 10 K RO K 0 75
PR TR 1) 0 13 b ST B it 1o 5 A R 5% 5 38 7 700 T KV YW ok 22 (T B2 — A 35 ) » ) T . NaOH g 7 15 T
R Rt A D0 5 P R TR 1 0 8 L S B i 35 , BB 058 5 0 T O P R D 28 1 K Yk v U P A ) A 0 R TR A
VW PR 2~ 3 Y5 PV 4R, FEAE A 20, 00 mL MR FE A TR, 1E AT HP R 2 DU T R R R R T O
T A R R T 5 AT VR NaOH A 1 78 V8 00 7R AR D DK, W00 45 1) M 12 1) 00 B L 52 o A 85 5 C R 5% 5 T
AV Ak =X 3 R TR 2 T R O e TR 3 ) U A 25 M D - 3 BT #E NaOH A
THE VRS VP AR FRL A 2 50O /1N 00 A5 R ) 0 L S PR ARG L D IE G
(HWO, +2NaOH =Na, WO, +H,0(2 43 B K c(CH, CH,NH, ) L3R & ZBUR (2 43
(D% KA 4 (CH,CH,NH,), WO, +2NH, « H,O0=2CH,CH,NH, +2H, 0+ (NH,), WO, (2 4}
WU J& — Wk W W A0 1 T 8 b, i H v o AR A R R Ak 1 AgNOs ¥, TC 6 1T E 7 A i B
H, WO, « xH,O YL B PEi T (2 49
(4)0.001(& 1. 0X 10 *)(2 4}
BGHYD12(1 4%

140

®<ﬁa><1o*1“>w,\
i HT: (DpH=2,c(H H)=10 2mol « L ', M| ¢(OH )=10 " mol « L ', R4 K, [ TiIOCOH),]=1.0X

c(HX)<<c(X7), H¥p

=0 B, B c(HX) =c(X7 ), M A NaOH ¥ W A& FL/N T 10, 00 mL, B 4%

(o Hofh TE A2 %) (2 43)

—21
10 AL c(THO" ) = 020 —mol - L =0.001 mol + 1. ',
(5)@Ca 5 O fe/INa]E Sy i J T X f 22 4 8 1 — > 0 58 B T 3 A 26 K 20 pes @ LB CRV2 @ pm,
O 140 §
Ry SEE N ———————— geem *,

2aXxX107")? N,
(DEy —664.1(2 %)
(2)DACD2 4y, MDEHIEMIN 45 1 50 H55 AR50
@350 “C i B T2 ik B4k 27 IR 25 5 32 5 Iy Tl A S g » il BE R T A I 3 s N ) s 2 Cal A Ak 5
T T 7B W O 25 SRR 2B 520 (2 4
@124
(3)Dal2 43
@50% (2 43)  5.9X10°(2 4
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20.

b (DRI H AHy=AH, — AH, = —664. 1 k] » mol ' =(E; —Ey) k] « mol ', fFLh E; = (Ey —
664. 1)kJ » mol ',

(2) @ S5 o 3 B - A7 AR 2 B, 79 e ) Jo 00 T 300 S oy i R 22 LU AR T A ) i 9 AL S T R T B o (NOD
=2vy (N A TEBR IR A AR B2 8 & 8 AN TR fb OB A — & 3K B AR B s — 8 i
T A N AR B R SRR AR A AR N B AR AR RN — 5 38 B AR C IR 5 TR A ARG A X 4y
R AR, RN HAR L, SO — TR B EORAS LD IR .

QW TR RIIL N HHE v=Fk + " (Hy) « & (NO),HH b s FH 8 5IRE GGIREA Lo T C ) IR 3

HH v Y Hy B LA 5000 B SR Eﬁv"»mUTﬁﬂtﬂf% vy =k o " (Hy) - &(N())%ﬂ%*

ke [ide)]'" . [idN())jz AR m=1,

(3) DFE AT 8 A PR AR 2 T80 7 3 1 B 8l . 204 PR B4 B/ L BT L 7504 89 H R
25019 N, BT X} iz (Y 282 a.

@M g NH, (9B BCH . BRI 5% ) Ho B 25% i) N, b H, 4 3 mol, W N, 3 1 mol.

3H,(g) + N,(g) == 2NH;(g)
n(GE ) /mol 3 1 0
n(564k) /mol 3x x 2x
n(CEA7) /mol  3—3x 1—x 2x
2a 1

— L 0.5 mol, M AT, N, 9% 0 20 1009 —50%.

(3o><%>2
M XRS5 AR 3 P-4 8 B K, = 15 0 — (MPa) ? 7(MPa)"= 9 X107 (MPa) 2,
(30 5 675

3
<1>2—a%$%<ﬁ@ﬁl%%%ﬁ@ﬁa%%ﬁ%ﬁé@ﬁ)<1 )
OBARK (1 43) PRI (2 4

O OH
(3)2 (5/K + o—»z @/\an L0243

(DOCD(2 43, fREx 4 2 40 X EAR2HE 1 70, A RS 0 4D
OH HO

(5)21(2 49) QCHZCHS (5% Q—CHchgmﬁj\)

OH HO

(6)

0, SOCl, Il
CH, CHOW CH,COOH——> CH,—C—-ClI

CH,

(341

FEAT - (5) 5 AU 2 AR A 1 A LB IR 6 RN R 254 5 5 UG o 1 A 2.1 4> CHOH
AT AS—CHy WA 10 R 2540 5 BREE Sy 1B 228 f 1 A~—CHOHD CHy A 3 Bl A 7] 25 44 L {H
TA LARAGY CAS MATE R 2 Fhas i s A BUEE N 1A B R M 1 A—CH, CH, OH, A7
SFORIE S . B XA 21 Fif
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